

SCHOOL DISTRICT OF OKALOOSA COUNTY TECHNICAL ASSISTANCE MEMORANDUM FINANCE

FINANCE TAM: 2023-008

CONTACT: Beth Marky, Budget Analyst

Budgeting & Financial Services

fulie a. Perry

TELEPHONE: 833-5827

TO: Selected Principals/Department Heads

FROM: Julie Perry, Chief Financial Officer

DATE: September 27, 2022 – Revised October 11, 2022

SUBJECT: Materials and Supply Stipend

On September 26, 2022, the School Board approved to pay a stipend for materials and supplies to certified Adult Vocational Teachers, Behavior Analysts, Behavior Interventionists, Mental Health Counselors, Occupational Therapists, Physical Therapists, School Psychologists, Social Workers, and Staffing Specialists. On October 10, 2022, the School Board approved to pay a stipend for materials and supplies to Instructional Coaches as well.

The attached spreadsheets, "Eligible Positions as of September 1, 2022," and "Additional School Board Approved Material & Supply Stipend" indicates the number of eligible personnel at each center and the total allocation received. Our District recognizes full time teachers as those teachers working 4.50 hours or greater. These teachers will receive a stipend in the amount of \$315.00. Teachers who work 3.75 hours to 4.49 will receive a half stipend in the amount of \$157.50. This is the final allocation for the 2022-2023 School Year.

You will also receive spreadsheets entitled "Board Approved Materials & Supply Stipend – Positions Detail" and "Additional School Board Approved Material & Supply Stipend – Positions Detail." These spreadsheets lists each eligible teacher at your center along with the stipend amount that each teacher should receive.

Schools With Internal Funds Checking Accounts:

- 1. The District will be sending a check made payable to your school through the courier. This check is to be deposited into your school's Internal Funds bank account. The deposit will then be entered into the accounting software and coded to account number 6.692.000.
- 2. The bookkeeper will process and disburse a check to each individual teacher as shown on the "Board Approved Materials & Supply Stipend Positions Detail" and "Additional School Board Approved Material & Supply Stipend Positions Detail" spreadsheets. These checks must be disbursed no later than October 31, 2022.
- 3. When accepting a check, each teacher is required to sign The Materials and Supply Stipend agreement form (see attachment). The teacher agrees to keep all receipts and to spend the funds for the **sole purpose of purchasing classroom materials and supplies to be used in the instruction of students assigned to them.** The teacher also agrees to return any unused funds to the school at the end of the school year.

Centers Without Internal Funds Checking Accounts:

- 1. The District checks are made payable to each teacher at your center as shown on the "Board Approved Materials & Supply Stipend Positions Detail" and "Additional School Board Approved Material & Supply Stipend Positions Detail" spreadsheets and will be delivered to you through the courier. These checks must be disbursed no later than October 31, 2022.
- 2. When accepting a check, each teacher is required to sign The Materials and Supply Stipend agreement form (see attachment). The teacher agrees to keep all receipts and to spend the funds for the sole purpose of purchasing classroom materials and supplies to be used in the instruction of students assigned to them. The teacher also agrees to return any unused funds to the center at the end of the school year.

Special Notes for All Centers:

- If a teacher does not spend all of his/her stipend prior to the end of fiscal year 2022-2023, the teacher must return the funds to the center as stated in The Materials and Supply Stipend agreement form. These funds must then be remitted to the School District with a MIS 3218 Cash Transmittal Form prior to June 30, 2023.
- If there are any teachers at your center who are no longer eligible for the Materials and Supply Stipend, those dollars must be returned to the School District with a MIS 3218 Cash Transmittal Form no later than November 30, 2022.

Remember, each teacher on the attached list must receive a check no later than October 31, 2022.

If you have any questions relating to the Materials and Supply Stipend, please call Beth Marky, Budget Analyst, at 833-5827.

Attachment

C: Executive Staff
OCEA
Internal Bookkeepers



Okaloosa County School District Materials and Supply Stipend Fiscal Year 2021-2022

Date:
"I,
Signature:
School:

School District of Okaloosa County School Board Approved Material & Supply Stipend Eligible Positions as of September 1, 2022 Fiscal Year 2022-2023

Submitted for School Board Approval September 26, 2022

	Board Ap	prove	ed Stipend -	Full Time	Board Ap				
	Number of	Stipend Per		Full Time	Number of	Stipend Per	Half Time	Total	
Position Type	Teachers	Full Time		Allocation	Teachers	Half Time	Allocation	Allocation	
BEHAVIOR ANALYST - ESE	4.00	\$	315.00	\$ 1,260.00	-	\$ 157.50	\$ -	\$ 1,260.00	
BEHAVIOR INTERVENTIONIST	9.00	\$	315.00	2,835.00	-	\$ 157.50	-	2,835.00	
GUIDANCE COUNSELOR V/T	1.00	\$	315.00	315.00	-	\$ 157.50	-	315.00	
MENTAL HEALTH COUNSELOR	21.00	\$	315.00	6,615.00	-	\$ 157.50	-	6,615.00	
OCCUPATIONAL THERAPIST	6.00	\$	315.00	1,890.00	-	\$ 157.50	-	1,890.00	
PHYSICAL THERAPIST	4.00	\$	315.00	1,260.00	-	\$ 157.50	-	1,260.00	
SCHOOL PSYCHOLOGISTS	8.00	\$	315.00	2,520.00	-	\$ 157.50	-	2,520.00	
SOCIAL WORKER	9.00	\$	315.00	2,835.00	-	\$ 157.50	-	2,835.00	
STAFFING SPECIALST	1.00	\$	315.00	315.00	-	\$ 157.50	-	315.00	
STAFFING SPECIALIST - ESE	23.00	\$	315.00	7,245.00	-	\$ 157.50	-	7,245.00	
TEACHER, HEALTH OCCUPATIONS ED	5.00	\$	315.00	1,575.00	-	\$ 157.50	-	1,575.00	
TEACHER, INDUSTRIAL ED	13.20	\$	315.00	4,158.00	-	\$ 157.50	-	4,158.00	
TEACHER, TECHNOLOGY EDUCATION	0.80	\$	315.00	252.00	-	\$ 157.50	-	252.00	
TEACHER, OTHER CLASSROOM	1.00	\$	315.00	315.00	-	\$ 157.50	-	315.00	
TEACHER, ESE RESOURCE	1.00	\$	315.00	315.00	-	\$ 157.50	-	315.00	
TEACHER, ADULT EDUCATION	1.90	\$	315.00	598.50	-	\$ 157.50	-	598.50	
						<u>-</u>	<u> </u>		
Total	108.90			\$ 34,303.50	-		\$ -	\$ 34,303.50	

Note:

- 1. Ten positions at Center 0701 Okaloosa Technical College teach K-12 and adult students. The individuals in these positions received Florida Teachers Classroom Supply Assistance Program funds based on the percentage of their jobs applicable to K-12 students. Per Board approval, they will now receive a material and supply stipend based on the percentage of their jobs applicable to Adult Education.
- 2. Full Time = 4.50 Hours or Greater; Half Time = 3.75 Hours to 4.49 Hours

School District of Okaloosa County Additional School Board Approved Material & Supply Stipend Eligible Positions as of September 1, 2022 Fiscal Year 2022-2023

Submitted for School Board Approval October 10, 2022

	Board Ap	ed Stipend -	Full Time	Board Approved Stipend - Half Time									
	Number of	Stipend Per		Full Time	Number of	Stipend Per		Half Time		Total			
Position Type	Teachers	Full Time		Allocation	Teachers	Half Time		Half Time		Allocation		Allocation	
ESE INSTRUCTIONAL COACH	1.00	\$	315.00	\$ 315.00	-	\$	157.50	\$	-	\$	315.00		
INSTRUCTIONAL COACH	1.00	\$	315.00	315.00	-	\$	157.50		-		315.00		
LITERACY COACH - ELEMENTARY	13.00	\$	315.00	4,095.00	-	\$	157.50		-		4,095.00		
LITERACY COACH - MIDDLE/JR	3.00	\$	315.00	945.00	-	\$	157.50		-		945.00		
MATH COACH - ELEMENTARY	11.00	\$	315.00	3,465.00	-	\$	157.50		-		3,465.00		
MATH COACH - MIDDLE/JR	1.00	\$	315.00	315.00	-	\$	157.50		-		315.00		
SCIENCE COACH - MIDDLE/JR	1.00	\$	315.00	315.00	-	\$	157.50		-		315.00		
Total	31.00		·	\$ 9,765.00	-			\$	-	\$	9,765.00		

Note:

1. Full Time = 4.50 Hours or Greater; Half Time = 3.75 Hours to 4.49 Hours